Multiplication par 5 (I)

Calculez chaque produit.

HDX2= DX b= 4x5H=
DX 7= b x4d= 5x 4=
7TX 5= 4x5H= 7TX D=
1 xb5H= bX &= OX9=
0x 5= HX 2= 4 x5=
bX9= DX 8= 3 X D=
DX 3= 9x b= 5x 2=
HYX 3= 9x5H= O X &=
DX b= b X9 = 0Xxb=
HbX 5= HX 2= 3 X H=
DX 7= DX H= 2XxX5H=
HX 8= 9x5H= 6 X 5=
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Multiplication par 5 Solutions (I)

bx2=10
b X T7=235
7x5b=235
Ix5=5
O0x5=0
b x9=145
bx3=15
bx3=15
b Xx5H=25
b xb=25
b X T7=235
b x 8=40

Calculez chaque produit.

DX D=2

Hx 4 =20

4 x5 =720

5 x 8 =40

bx2=10

5 x 8 =140

9x 5=45

9x5H=45

H X9 =45

Hx2=10

DX H=125

9x5H=45

4x5=20
bx4=20
7xb=235
bx9=45
4x5=20
3x5H=15
Hhx2=10
Hx 8=40
0x5=0
3x5H=15
2x5=10
6xb=230
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